
Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

Moltiplica i decimali per potenze negative di dieci

3445, 9 × 0.1 = ________ 2822, 6 × 0.01 = ________

2947, 9 × 0.01 = ________ 5074, 9 × 0.001 = ________

6380, 5 × 0.1 = ________ 5637, 1 × 0.001 = ________

2942, 9 × 0.1 = ________ 3205, 8 × 0.0001 = ________

1283 × 0.1 = ________ 6504, 5 × 0.0001 = ________

7431 × 0.001 = ________ 7545, 6 × 0.01 = ________

2275, 2 × 0.1 = ________ 6204, 8 × 0.0001 = ________

6827, 4 × 0.001 = ________ 4097, 4 × 0.1 = ________

6438, 5 × 0.01 = ________ 4215, 7 × 0.001 = ________

7383, 3 × 0.01 = ________ 5996, 7 × 0.001 = ________
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Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

Moltiplica i decimali per potenze negative di dieci

3445, 9 × 0.1 = 344.59 2822, 6 × 0.01 = 28.226

2947, 9 × 0.01 = 29.479 5074, 9 × 0.001 = 5.0749

6380, 5 × 0.1 = 638.05 5637, 1 × 0.001 = 5.6371

2942, 9 × 0.1 = 294.29 3205, 8 × 0.0001 = 0.32058

1283 × 0.1 = 128.3 6504, 5 × 0.0001 = 0.65045

7431 × 0.001 = 7.431 7545, 6 × 0.01 = 75.456

2275, 2 × 0.1 = 227.52 6204, 8 × 0.0001 = 0.62048

6827, 4 × 0.001 = 6.8274 4097, 4 × 0.1 = 409.74

6438, 5 × 0.01 = 64.385 4215, 7 × 0.001 = 4.2157

7383, 3 × 0.01 = 73.833 5996, 7 × 0.001 = 5.9967
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